
 

 

 

 

 

 

 

 

ITM# Part # Description Qty. 

    1 26848S Muffler Inlet Pipe 1 

    2 26277S Muffler Inlet Pipe Extension 1 

    3 8430115-Z Muffler 1 

    4 26930S PowerBoost Muffler Inlet Pipe 1 

  5 26931S Right Muffler Outlet Pipe 1 

  6 26932S Left Muffler Outlet Pipe 1 

    7 26933S Right Tailpipe 1 

   8 26934S Left Tailpipe 1 

     9 ST509B Black Ceramic coated Tip 2 

   10 SF059B Muffler Inlet Pipe Flange 1 

   11 490HA Inlet Pipe Clamp Hanger 1 

   12 MC300BS 3” Band Clamp 6 

   13 HA168 Red Exhaust Hanger Isolator 1 

   14 HW102 5/16-18 Hex Nut 1 

   15 HW2302 5/16 Flat Washer 1 

   16 HW502 7/16 Push Nut Retainer 2 

   17 535HA Frame Hanger (Left Tailpipe) 1 

18 HW204 5/16-18 x 1” Bolt 1 

http://www.flowmastermufflers.com/



